
   

 

 

Modelo Función 
Cambio de 

variable 
Plano VZ 

Potencial 𝑦 = 𝑎 ∙ 𝑥𝑏 
𝑧 = 𝑙𝑜𝑔(𝑦) 
𝑣 = 𝑙𝑜𝑔⁡(𝑥) 

𝑧 = 𝑙𝑜𝑔(𝑎) + 𝑏𝑣 

Exponencial 𝑦 = 𝑎 ∙ 𝑒𝑏𝑥 
𝑧 = 𝑙𝑛⁡(𝑦) 
𝑣 = 𝑥 

𝑧 = 𝑙𝑛(𝑎) + 𝑏𝑣 

Hiperbólico 

General 

𝑦 =
𝑎

𝑏𝑥 − 𝑐
+ 𝑑 

Caso 1 

𝑦 =
𝑎

𝑥
 

𝑧 = ⁡ 𝑦 

𝑣 =
1

𝑥
 

𝑧 = 𝑎𝑣 

Caso 2 

𝑦 =
1

𝑎𝑥 + 𝑏
 

𝑧 = ⁡
1

𝑦
 

𝑣 = 𝑥 
𝑧 = 𝑎𝑣 + 𝑏 

Caso 3 

𝑦 =
𝑎𝑥 + 𝑏

𝑥
 

𝑧 = ⁡ 𝑦 

𝑣 =
1

𝑥
 

 

𝑧 = 𝑎 + 𝑏𝑣 

Caso 4 

𝑦 =
𝑥

𝑎𝑥 + 𝑏
 

𝑧 = ⁡
1

𝑦
 

𝑣 =
1

𝑥
 

𝑧 = 𝑎 + 𝑏𝑣 

Caso 5 

𝑦 =
𝑎𝑥

𝑥 + 𝑏
 

𝑧 = ⁡
1

𝑦
 

𝑣 =
1

𝑥
 

𝑧 =
1

𝑎
+
𝑏

𝑎
∙ 𝑣 


